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MATH 1113 Precalculus Name: jom\ff

Eric Perkerson Date: July 17, 2017

Quiz No. 5

DUE WEDNESDAY JULY 19th IN CLASS.
Show all of your work, label your answers clearly, and you MAY use a calculator. You
MAY use your class notes and the textbook. You CANNOT work with or discuss the quiz
with anyone else. You CANNOT use any material other than your notes and the textbook.

Problem 1 Find an angle coterminal to 6 on the interval [0, 2]

Problem 2 Convert the given angles

— radlans to degrees.
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b 732° to radians
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C 32° to revolutions (yes, revolutions, not radians)
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Problem 3 You are given that the length of an arc on a circle is 4, and that the radius
of the circle is 6. What angle (in radians, of course) centered at the center of the circle gives

(’5 you this arc?
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— Problem 4 Given that the area of a circular sector is 137 and that the angle at the
[j g center of the circle that gives you this sector is 7/7, what is the radius of the circle?
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Problem 5 Evaluate the following and show your answer on the unit circle. (Decimal
answer will receive zero credit.)
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¢ Given that tan(%) =1-+/2, find cot(%r)

fanl8) anlF)- 1052 o et (%] T2

-')

d Given that sin(f) = 32, find cos(f) using one of the Pythagorean identites.
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a cos(m +7/3)+2
.
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// Problem 6 Graph the functions:
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Problem 7

a A circular sector can be folded up into a right-circular cone. If your circular sector has angle 6, and the
cirlce it is part of has radius R, what is the circumference of the base of the right-circular cone it can be

folded into? (Try this with a piece of papr if you do not undemd what is gosgg on). } i
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b  What is the radius of the base of the cone, now that you know the circurmnference?
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C What is the height of the cone?
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d  What is the surface area of the cone? Include the area of the side of the cone and the area of the hase
of the cone.
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